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General Information

• The network calculus analyses presented in this document were created for the purpose of testing the Disco Deterministic Network
Calculator (DiscoDNC)1 – an open-source deterministic network calculus tool developed by the Distributed Computer Systems
(DISCO) Lab at the University of Kaiserslautern.

• Naming of the individual network configurations depicts the name of the according functional test for the DiscoDNC.

• The naming scheme used in this document is detailed in NetworkCalculus_NamingScheme.pdf.

• Arrival bound computations are equivalent to the PbooArrivalBound_Output_PerHop.java class of the DiscoDNC.

• The end-to-end left-over service curve for PBOO arrival bounds can be computed by simply convolving the server-local ones.

• Arrival bounds for PmooArrivalBound.java and analyses using them are listed only if results are different to PBOO.

Changelog:

Version 1.1 (2014-Dec-30):

• Adapted to naming scheme version 1.1.

Acknowledgements:

Version 1.1: Thanks to Yokanand Thirupathi and Paresh Chotala for pointing out some errors.
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